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~ Parallelograms

Circle T or F for each of the following.

i@>r F All squares are parallelograms.

2. T or{F/All rectangles are squares.

3®or F All squares are a rhombi.

Find the missing angles.

7. MATH is a parallelogram.
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4.@or F All rhombi are quddrilo’rerdls.
5.@or F A rectangle is a parallelogram.

6. T onF/All quadrilaterals are rec’rq\ngles.

8. RULE is a rectangle.
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10. ETRY is ¢ sguare.
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11. QUIZ is a parallelogram.
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12. PLUS is a rhombus.
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Fill in the blcmks using the Qarallelogram below.
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User ecfongl e RULE for questions 15 - 19. These questions are independent of each other.

15 If m£RUS =72 degrees, find m2SUL. m£SUL = !@

40-712-
16. Find mZREL. mZREL = QID

17, IfF RS = 3x + 8 and SE = éx— 28, find US. x=_\& :us=_4Y
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18, IFRL=5x+8andSL=4x+ 1, find UE. x=_ & :UE= |9
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byvp= px vl X
19. fUL=20and UE =25, find LE, LE= !g
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/ Use thombus PLUS for questions 20 - 24. These questions are independent of each other.

20. I m2UXL = 3x+ 15, find x. x= 26
SS90

21, IFPS=2x+ 10 and SU = 4x— 4, find UL, x= 1 : UL= 7?4
2X¥\0 = Uy )
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22. FXL=21 and PL = 29, find PX. Px= 20
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23. If MLSPX = 2x— 45 and mXPL = x + 9, find mSUL. x= 84 msuL = 12l
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24, If m«PLU = 87 degrees, find msPLX. mZPLX = l_‘l g

Use square for questions 25 - ﬁ! . These questions are independent of each other.

25. Find m.SiZ. m.SIZ = ‘:\50 :E

26. If mZIDE = 2x + 48, solve for x. x = W

Wrvd =90
27, 1FS=10x-2and ID = 5x + 18, find SE. x=_\_; se=_B@ g/
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28. If mZESZ = éx - 57, solve forx xX= 5 l

{GV"‘;;} =&
A=

29. IFIE=30Cand SZ =2x + 1, solve forx. x= i
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